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// Rotary encoder pulse multiplier

// Copyright (c) 2015 Kazumasa ISE
// Released under the MIT license
// http://opensource.org/licenses/mit-license.php

//

// PULSE_RATIO PB2~5

// RENC_IN A:PD3(INT1), B:PD2(INTO)
// RENC_OUT  A:PB1, B:PBO



#include <util/delay.h>
#include <avr/sleep.h>

//#define DEBUG

#define LOW_2BIT(x) ((x) & BOOEEEEO11)

#define LOW_4BIT(x) ((x) & BOOEO1111)

#define ROT_4BIT_RIGHT(x) LOW_4BIT(((x) >> 1) | ((x)
#define ROT_4BIT_LEFT(x) LOW_4BIT(((x) << 1) | ((x)

#define RENC_IN LOW_2BIT(PIND >> 2)
#define SET_RENC_OUT(x) (PORTB = (PORTB & B11111100)

#define PULSE_INTERVAL 32

#define RATIO_DEF 9

#define RATIO_VAL LOW_4BIT(~PINB >> 2)

#define PULSE_RATIO ((RATIO_VAL > 0) ? RATIO_VAL

inline bool rotationDirection(byte curr) {
static byte prev = 0;
const bool cw = ((prev << 1) A curr) & B0OO000O10;
prev = curr;
return lcw;
}

inline void rotationPulseOut(bool ccw, byte ratio) {
static byte bits = B0OO000O11;
for (int 1 = 0; 1 < ratio; i++)

<< 3))
3))

>>

LOW_2BIT(x))

RATIO_DEF)

bits = ccw ? ROT_4BIT_LEFT(bits) : ROT_4BIT_RIGHT(bits);

SET_RENC_OUT (bits);
_delay_us(PULSE_INTERVAL);
}
}

#ifdef DEBUG
volatile byte COUNT;
#endif

void interruptHandler() {
const bool ccw = rotationDirection(RENC_IN);
rotationPulseOut(ccw, PULSE_RATIO);

#ifdef DEBUG
ccw ? COUNT++ : COUNT--;

#endif

}

void setup() {
set_sleep_mode(SLEEP_MODE_IDLE);
PORTC |= B00111111; // Unused PCO~5 pullup
PORTD |= B11110011; // Unused PDO~1, PD4~7 pullup
PORTB |= B00111100; // PB2~5 Input pullup
DDRB |= B0OOOOOO11l; // PBO~1 Output
attachInterrupt(®, interruptHandler, CHANGE);
attachInterrupt(l1, interruptHandler, CHANGE);

#ifdef DEBUG
Serial.begin(115200);

#endif

}



void loop() {
sleep_mode();
#ifdef DEBUG
static byte prev = 0;
if (prev != COUNT) {
Serial.println(COUNT);
prev = COUNT;

#endif

}
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// Copyright (c) 2015 Kazumasa ISE
// Released under the MIT license

// http:

// 2016-
// 2016-
// 2016-

//opensource.org/licenses/mit-license.php

08-23 2.0 Add another rotary encoder input.
08-22 1.1 Add INVERSE_ROT.
05-22 1.0 Created.

// PULSE_RATIO PB2~5
// INVERSE_ROT_X PD4
// INVERSE_ROT_Y PD5

// RENC_
// RENC_
// RENC_
// RENC_

IN_X A:PD3(INT1), B:PD2(INTO)
IN_Y A:PD7, B:PD6
OUT_X A:PB1, B:PBO
OUT_Y A:PD1, B:PDO

#include <avr/sleep.h>

#define
#define
#define
#define
#define
#define

#define
#define
#define
#define

#define
#define
#define
#define

#define
#define

LOW_1BIT(x) ((x) & BOOOOOOO1L)
LOW_2BIT(x) ((x) & BOOEOOO1L)
LOW_4BIT(x) ((x) & BOOOEO1111)

ROT_4BIT_RIGHT(x) LOW_4BIT(((x) >> 1) | ((x) <<
ROT_4BIT_LEFT(x) LOW_4BIT(((x) << 1) | ((x) >>
SIGN(x) (((x) <0) ?2 -1 : (((x) >0)
RENC_IN_X LOW_2BIT(PIND >> 2)

RENC_IN_Y LOW_2BIT(PIND >> 6)

(PORTB & B11111100)
(PORTD & B11111100)

SET_RENC_OUT_X(x) (PORTB
SET_RENC_OUT_Y(x) (PORTD

PULSE_INTERVAL 32
RATIO_DEF 9
RATIO_VAL LOW_4BIT(~PINB >> 2)

?

3))
3))
1:0))

(x))
(x))

PULSE_RATIO ((RATIO_VAL > 0) ? RATIO_VAL : RATIO_DEF)

INVERSE_ROT_X LOW_1BIT(~PIND >> 4)
INVERSE_ROT_Y LOW_1BIT(~PIND >> 5)

class RotaryEncoder {

private:

int8_t countBuffer;

uint8_
uint8_

public:

t prevAB;
t signalBits;

RotaryEncoder() {
countBuffer = 0;
prevAB = 0;
signalBits = BOOEOOO11;

}

inline void countPulse(uint8_t currAB, uint8_t ratio,
if (prevAB != currAB) {
const bool cw = ((prevAB << 1) A currAB) & BOOO00010;
const int8_t signhum = (inverse ? !cw : cw) ? -1
countBuffer += signum * ratio;

bool inverse) {

1;



prevAB = currAB;

b
}

inline uint8_t getSignalBits() {
if (countBuffer != 0) {
const int8_t signum = SIGN(countBuffer);
signalBits = (signum > @) ? ROT_4BIT_LEFT(signalBits)
ROT_4BIT_RIGHT(signalBits);
countBuffer -= signum;

return LOW_2BIT(signalBits);

}
inline bool isCountBufferEmpty() const {
return countBuffer == 0;
}
Iy

RotaryEncoder rencX;
RotaryEncoder rency;

void interruptHandler() {
rencX.countPulse(RENC_IN_X, PULSE_RATIO, INVERSE_ROT_X);

}

ISR(PCINT2_vect) {
rencY.countPulse(RENC_IN_Y, PULSE_RATIO, INVERSE_ROT_Y);

}

void setup() {
set_sleep_mode(SLEEP_MODE_IDLE);

PORTC |= BOO111111; // PCO~5 Pullup
PORTD |= BGO110000; // PD4~5 Pullup
PORTB |= B00111100; // PB2~5 Pullup
DDRB |= BOOOOOO11; // PBO~1 Output
DDRD |= BOOOOOO11; // PDO~1 Output
PCMSK2 |= B11000000; // Enable PCINT22~23

PCICR |= BOOOO010O; // Enable PCI2
attachInterrupt(®, interruptHandler, CHANGE);
attachInterrupt(l1, interruptHandler, CHANGE);

}

void loop() {
while (!'rencX.isCountBufferEmpty() ||
IrencY.isCountBufferEmpty())

SET_RENC_OUT_X(rencX.getSignalBits());
SET_RENC_OUT_Y(rencY.getSignalBits());
delayMicroseconds(PULSE_INTERVAL);

sleep_mode();
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